9.

Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.

feor .- =8l S a9l & SR SIfST | o9 3T SR Al AfereRan
500 sl H aREifHa iU 9 U 14 36 T B
10.

11.
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13.
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What are the objectives of World Trade
Organization (WTO) ?
fova =R e (WTO) & o1 S § ?
Section—C
(Long Answer Type Questions)

Each question carries 14 marks.
gug—H
(& ST wee)

Examine critically the role of Panchayati Raj
System in Rural Development.

o o # TEEd U9 Sewen &t f e @
STEAACHS  TI&0T hifST |

Explain the main sources of Rural Finance in
India.

aRd H U faw % {ed El R TR hifag |
Throw light on the recent trends of India’s Foreign
Trade.

IR foRs =R #t 3Eae ggfadl W YRRl SIfer |
“Service sector in Indian economy is a dominant
sector.” Do you agree with this statement ? Support
your answer with suitable facts and logic.

“Har & R steferawen H uw smfude &% ®1”
3MT 9 HU9 ¥ TWEHA © 7 AT IW H gfe H
SUTHT T T Toh TG I |
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The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.

Tg Y- ‘31, ‘T iR ‘|’ f el # fawifea )
T TUE PR T # S A
Section—-A
(Very Short Answer Type Questions)
Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
Qg —3H
(fa &g 3w Uv)
qft vl & IW ST AT A IW HI FIATIR
Th I, Th A 91 Afeshan 30 vl § AR
HIC | J&F T9F 2 3F H T
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What is the present contribution of
agriculture in GDP of India ?
IRA & Tt e AR (GDP) # #f9 &1 fohan
AMEH T 2
What is meant by Export Promotion ?
frafa dagT ¥ F1 AW T ?
Mention any two important characteristics of
Rajasthan Economy.
o w1 ieforaeen & fH=l @ Hewyu
foeroraeti w1 Seora HIfY |
When World Trade Organisation (WTQO) was
established ?
fova =R "t (WTO) i Td19T el i T8 ?
What do you mean by Economic Policy ?
smfefer ifa & omq = THe ¥ 2
Define Liberalisation.
I[RIAT Tl qRIfoa wIfSw)
How many tiers are there in Panchayati Raj
System ?
TERE TS e | fRe ' € ?

Section-B 4x7=28

(Short Answer Type Questions)

Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.

Qs —d

(g 3T U9)

Pl w® gv & S AT e et sW W
sifeeRad 200 T8 H IREIHA HINTI T&® e
7 3% H T

(2) TR-459

. Explain any four important obstacles of Rural

Development.
o foRE w1 ARl WR Heee el e
HIFST |

. Throw light on the importance of cottage and

small scale industries in India.
IRG # HeER R oY "R S B Hed W TR
SIfed |

. Explain main problems of the Economy of

Rajasthan.
TSRAM i TIEEq i A THENST Hl THEET |

. “Export promotion is the need of hour for a

developing economy like India.” Elucidate.
“frafg o 9Ra S faeeRie stderen #§ 9w
H1 TR g 1" faee wifsm)

. What are the advantages and disadvantages of

Swadeshi ? Explain in brief.

R & YO AR IS ¥ 7 WY H IHE

. Why many people oppose Globalization ? Explain

with facts and reason.
3 N eI T b oy Wi ¥ ? 929 W

T gfed T Hifeg |

. What are the main objectives of Economic Policy

of India ?

gRd w1 M Afq B R TqE e ¥ 2
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